[e) XN
16 11—
A D
/
/
/
5C'm 45
|
\ 30°
\
B C = =
~3cm-
® BC =3cm @ (E=280° ® (F=55°
@ DE =5cm (@)zA:40°

® /F =180° — (45° + 80°) = 55°

® (A = /D =45°




._._mo
N

At

—

© =9 Zol7F 4em

@ 4eol7F lem?

P60 06 006 ®oe Oee

=

£ lem °|BE2 ©7 @

o Zol




o

3804 OABCD = OEFGH ¢ o, t}& &

© 4 oot e

H4& A Foldh

@)AB = EF

® ¥ AB ¢ f-g5t= ¥ | EH o]t}

@AD:LH

® /C=/E

ODABCD = oEFGH ¢|2E2 A > E, B> F, C-> G, D> H
OHCostsate BA¥E A G

® ¥ AB ¢} H-got= H2 ¥ EF

® (C ¢t f-&5t= 22 G




thg 2H o)A oABCD = oEFGH ¢ i, x +y 2] 327

@® 98 @ 100 ® 102 @ 104 (3)106

x=095° y=1lcm
SLx+y=95+11 =106




& 19014 aABC = aADEF©]7] 9Joff F7H4 o= Hagt 208

g2 AL

A D
B C E F
® AC =EF ® /B=/(F ® BC =DF
@ /,C=/D (@)A_C:ﬁ

AB =DE©°|1 /A = /D°|E&, /B=/E EX /C = /Fo]H
ASAE5o]1, AC = DFo|® SAS 50| Ht}.




6.

@ /A = /F, /B=/E OAB«]EH%I_—S—D_ olct,
® /D =45° @ /F=60°
® DF 9] Zol= b o]},

Z
(o)
1o
=
olo
rE
rlo
=
e
o
uk




S
'—l_

,_OE

=)
=

Soleta

2] 2] AABC 9} SSS g

a

O
=

EP% QZ.‘%‘ SolA =

7.

o|J
J.O_.O

~H
A
%

B~-9ecm--C

I
o
A, 7148 2717 2=

=
z

Z
2
0|7} 242

2
2

L
¥l

Al
_I?_

A

Bt




~

1219 ABC o141 B ©] 5719 BC 9] Zol7t Fold uf, thg % o]
o] o FoiA] @ 4750l SAS 27| o8] sLha AYEE}?

o

@ AC 9] Zo] @Eggo]

® (A °] A7) @ /C ¢ 37]

© © FolAA] ot Hrt.

(B 9] 279} BC 7} Fo15 o8& /B 7} 7]Q17}o] 7] ]5)A]
AB 2] ol7k FolAoF k.




9.

ot 1ollA H P7F AB, CD 2| 53 < i, AACP = ABDP ©]t}.
o= B7] 5 AACP = ABDP 92 A™s}7] fIgk 7o) oid A&
= 72W9

A D
C B
H7]

& AP =BP © CP =DP

© AC =BD ® /APC = /BPD

@ <ACP = /BDP ® <ACP = /DBP
® © @ ©, 6 ® 6 6
®e.e ® ® ©,© 6,0

AP =BP, CP = DP, /APC = /BPD (¥%&x]7})
. SASEE




10.

A OtHBC YN I DEA
= A4 ADE & 28 o], th2 5 B9 A2?

@ /BAD = /CAE @ BD =CE
® ABD = /ACE (@) .cDE = .CAE

® /ADB = /AEC

B

AABD T} AACE 9|4
AD=AE---O
AB=AC.---©
/BAD = /CAE ---©
@, ©, ©cl sk
AABD = AACE
(SAS &)

@ /BAD = /CAE




11. o IoA AABC = B4z 0]1 AD = BE = CF € 1, ADEF
= of® 417HgQ17) Ffofet,

A
D
F
B¢ C
> g
== R

5 ~
AD=BE=CF---O
AF=DB=EC---O
/DAF = /DBE = /ECF = 60° ---©
Q, ©, © °IA
AADF = ABED = ACFE(SAS®%) 0|28




12. thS IoH AAPQ, ABPR £ HAztgo] 1, AR
CA ke 4Y F LS AL 1EW?

R
Qg

e

@ aAPQ = ABPR (SAS &)
@ AAPR = AQPB (ASA %)
® QPR =120°
@APQB = /PAR

® /APR = /QPB = 60°

~&B

AAPR €} AQPB ©f|A
AP=QP,PR=PB,

(APR = /QPB = 120° ]2 &
AAPR = AQPB (SAS &%)




13. o5 Z1™HolA AABC € AECD 7 AA29 L o,

E

@® /BCE = /ACD

@ BC=AC

® CE=CD

@ ABCE = AACD (SAS %)

@AABD = ABCE (ASA 3&)

B

<2
S

A

bies
rlo

pa)

rlo

BC = AC (- B47H9)

/BCE = /ACD

(- .zBCE = /ACD = 60° + /ACE)
CE = CD (- A4Z49)

- ABCE = AACD (SAS &%)




